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Physics : Q. 1t0Q. 50

Chemistry : Q.51t0 Q. 100

Biology : Q. 101 to Q. 150
PHYSICS / WifaeryTre

A light ray moving in medium- [ (of refractive
index n,) is incident on interface of two media
and it is totally internally reflected at the
interface. Now refractive index n, of medium-II
is decreased, then

(A) ray will be totally transmitted in medium-II.

(B) ray will move completely parallel to the
interface .

(C) ray will be still totally internally reflected at
interface.

(D) ray will be totally transmitted into medium-II
only if angle of incidence is increased.

(D) fRor miem-1 ® UidE 9IEHd had

aft Bt W AUGd HIU "EET STl
2l

2-BA |

| Contd...
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002. A light beam consists of two types of photons. | 002, us webre fw § a1 YR & BIRA 2| TH g:‘ﬁll.l);
In one type each photon has energy 2el and in TE U IS BleH i Hall 2el 8 adl 'qj{-ﬁ E’S:
other type each photon has energy 3el. The light TE H U WEH Hl Fal 3el Bl YHW Et';;
beam is incident on a photoelectric material of fhor wh gk ﬁgﬂwﬁ forerht - hrwa ifs:
work function lel. The maximum kinetic energy lev ® 38 W frdt 21 Scafda wiereerRM 'E<£l];
of emitted photoelectron is : H AR TS SR iis::
(A) leV (B) 2eV () ek (B) 2eV %
(C) 3eV (D) 4eV (€) 3e¥ (D) 4e¥ €O

003. A light beam parallel to axis is incident on 003, W1 3T <l A, B, C dd1 D % Fem
the system of four convex lenses A, B, C and s % A g fe 99 sAmfad &t
D. Focal lengths of A, B, C and D are 30cm, 3l T A, B, C T D H BHE AR
10cm, 30cm and 10cm respectively as shown. FA: 30cm, 10cm, 30cm T 10cm €1 FE
Here fixed distance BC=20cm. What should be fear g BC = 20cm 3 ©E AT T D
the distance between the lens A and lens D so % " qﬁ fepet Eﬁ:ﬁ HT%Q s S %
that after refractions, rays will be parallel to vama fot (regi?n) & 1; TL a3 °Y A
axis in regions I, III and V? s W EITEN R

<€20cm> : n
s e |
UV —V y V|
A B C D A B C D

(A 20em (B) 40 cm (A) 20 cm (B) 40 cm
(C) 100 cm (D) 80 cm (C) 100 cm (D) 80 cm

004. A long silver tea spoon is placed in a cup filled | 004 A el % O 9" okl T 99 d
with hot tea. After some time, the exposed end W HT H @ SR PO THI diq wHHE
(the end which is not dipped in tea) of the 1 gar & (S == w g 7) ™
spoon becomes hot even without a direct contact S 7 gEf 9 W™ % HY gwh §OFE
with the tea. This phenomenon can be explained 91 | I8 FHE9 Hed w4 a = 3 AT S
mainly by: ghdl &

(A) thermal expansion (B) conduction (A) FHR FER (B) e
(C) reflection (D) radiation ©) RRCER (D) fafertor
2-BA] [3 | P.T.O.
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005. Figure shows a nonconducting semicircular rod | gps.

PN
©

in xy plane. Top half (quarter circle) has uniform

FAN
©

P
©
o = o' = ooy = aToy = paton = paTey = ooy = patoy = o = potog = pategy =

linear charge density — Awhereas remaining half

y
L

has uniform linear charge density + A. What is the

AN
N

LN
O

direction of the net electric field at point P?

L

O

L
Y

PN
©

o
L

F /N
™

(A) along +x axis | (A) +x 3T 6 I

(B) along +y axis (B) +y 34 =+ 34':1,1’75:5{[

(C) electric field is zero at point P, so direction (C) félﬁ P 9T ﬁi’gﬂ & b 7 o1a: fouem s &
cannot be determined. <1 ST Gehll @

(D) along the bisector of x axis and y axis. (D) xHAG 9 y JAH % ITZUTTH b 33[3%?[

006. A bead of mass m can slide without friction on a | 006. U$ TSdd IR gfos aom fSmeh G
fixed circular horizontal ring of radius 3R having 3R 89 %% C W & 3 W m GAAN &l
centre at the point C. The bead is attached to one T HAHI %7-11 uiu 6 fREd HHRAT B WAh
of the ends of spring of spring constant k. Natural Il QEE fezrm
length of spring is R and the other end of the > ﬁ@n;ﬁ
spring is fixed at point O as shown in figure. Bead f%l'ﬂ'l':l,ﬂﬂ %F-'g
is released from position A, what will be kinetic AH ek 5
energy of the bead when it reaches at point B ? T q‘gam 2

OC=4R ﬂt

(A) 12 kR? (B) 22—5kR2 (A) 12 kR? (B) 22—5!{}32
(C) %k;?z (D) 8kR* (C) %mz (D) 8kR*

007. The total electrostatic energy stored in both the | 007. @i 9umiE ¥ gufga Fa for faga ol &

capacitors is :

~3Ve——|— ~3Ve— —{ —

WF GpF = 3uF 6uF ==
(A) 18 1] (B) 9yl (A) 18 pJ (B) 9 )
(C) 40.5 1] (D) 13.5 1] (C) 40.5 1] (D) 13.5 4]
2-BA | | 4] | Contd...
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008. Gravitational force acts on a particle due to fixed | (08, e THM 3@ Fedd Mol % SR Tk & G LO)
uniform solid sphere. Neglect other forces. Then E‘éﬁﬁﬂ I AT 8, 39 9 T B | 99 I8 ES:
particle : Ul ﬁ%x
(A) experiences a force directed along the radial (A) ae == fgum = GH%QT HER] ﬂgﬁﬁ"ﬂl i%:
direction only. (B) whw Bt feen % wwaaa wfd | R
X i : O
(B) always moves normal to the radial direction i
(C) always moves in the radial direction only. €) = Prefrar fomm = lﬂl =1 It e 5’2:
(D) always moves in circular orbit, (D) BHIM ERIR] TIfd | ©)
X
e
009. A block performs simple harmonic motion with | 009. Ueh s HEATERT fog x =0 & HN& B AT
equilibrium point x = 0. Graph of acceleration of the I ST 8 | SATh o o] ] HY 6 FHodd & &Y
block as a function of time is shown. Which of the U Y% 2T T 2 | &AMk o 91 H a1 $94
following statement is correct about the block? qHg g ?
a(m/s?)
2 A
MZ \ (sec) 2 4\ t(sec)
-2 - -2 -
(A) speed is maximum at t=3s. (A) t=3s T U 61 =7 AT 2|
(B) ::Stpzlzcsemﬂnt from equilibrium is maximum (B) t=ds T Ff 8 3
(C) speed is maximum at t=4s. (C) t=4s T AT AfeHH 2 |
(D) speed is minimum at t=2s. (D) t=2s W =T =AaH 2|
010. There are two identical springs each of spring | 010. Il g1 UhaaH & 2 9 Tc¥sh &1 & fH=ams &
constant k. Here springs, pulley and rods are 2 | I =cllh 1 GoIHE m & ao ﬁ?\dﬂ, t{?ﬁ GEI
massless and block has mass m. What i1s the ?5% (I‘Gds}m%l TSR] ﬂ ‘gﬁ% ﬁ:\g‘r[w
extension of each spring at equilibrium ? R 4T B 7
mg 2mg i R
(A) —— (B) = (A) k
mg 3mg mg 3mg
By =, D) ©) > )
011. Two tuning forks A and B produce 4 beats/sec. | 011. ATl B 3 i 4 faodg /T 39 i & |
Forks B and C produce 5 beats/sec. Forks A and C B duT C Wi 5 fowie /g%vg 309 =d & i
may produce ....... beats/sec. ATI C T ..., o /e 3caa L Tohd &
(A) 2 (B) S (A) 2 (B) 5
() 9 (D) 20 ©) 9 D) 20
2-BA | [5] | P.T.O.
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012. A 10gm bullet moving directly upward at 1000 m/s | 12, weh 10gm =1 Tefl 1000 m/s & Hieff S 77T HTA

strikes and passes through the center of mass of f form & 92 10 kg SeHH % Scfieh © T B
qAAT IHh ZEIHH g & TSN B T HY FW
&1 T 400 m/s F 576 § § e FHeherd] 8 (96
Tl scieh | Sk STt FHehard] & 39 &0 scfieh i
o AT BT ?

FAN
©

a 10 kg block initially at rest .The bullet emerges

o
L

from the block moving directly upward at 400 m/s.
What will be velocity of the block just after the
bullet comes out of it ?

F /N
™=

®

L
I"\

PN
©

PN
©

o
L

P
©
o = o' = ooy = aToy = paton = paTey = ooy = patoy = o = potog = pategy =

F /N
N/

.bullet

(A) 0.6 m/s (B) 1m/s
(C) 0.4m/s (D) 1.4m/s

(A) 0.6 m/s (B) 1mfs
(C) 0.4 m/s (D) 1.4m/s

same speeds in vertical plane from same point O
with making projection angles with horizontal 30°
and 60° respectively and they fall directly on plane
AB at points P'and Q'respectively. Which of the
following statement is true about distances as given
in options?
Q o ZQOM=60°
é ,_-' ZPOM =30°
M

0

A B
(A) AP" = AQ' as there are complimentary
projection angles.
(B) AP'>AQ’
(C) AP'<AQ’
(D) AP'£AQ’

. A string has a length of 5Sm between fixed points

and has fundamental frequency of 20 Hz. What is
the frequency of the second overtone ?

(A) 30 Hz (B) 40 Hz

(C) 50Hz (D) 60 Hz

Displacement x versus 2 graph is shown for a

particle. The acceleration of the particle 1s :
X{m

2 ___________

013. Two identical balls P and Q are projected with | 013. Eﬁ Ush&dHTH ﬁé P dd Q Th 3l gHHE ﬁﬁ 0od

Sealel adf # G =7 d &fds o 919 T&q97 iy
AT 30° 9 60° W g&fud i STt 7 adr 9 @iy
& 9 AB T sl fomg Pra Q' W fineft 21 gl &
ey § e fakes g 8 7

Q 5 ZQOM =60°
é:" ZPOM =30°
M

0

A B

(A) AP'=AQ'®ifeh 3Teh J&YT HI0T Tk HI0T &
(B) AP'>AQ
(C) AP'<AQ’
(D) AP'<AQ’

. @1 TR fomgati o Aea U W1 i aFalTs Sm 2 aen

gahl gAqd gfd 20 Hz @ ot fgdft sifemer i
argfa @ geft 7

(A) 30 Hz (B) 40 Hz

(C) 50 Hz (D) 60 Hz

. Uk U1 o TR x T 2% 919 Y% Sd&T T

HELEIRC U EE

X(m

2 ___________

0 1 t’(sec?) 2 1 t(sec?)
(A) 2m/s? (B) 4m/s? (A) 2m/s? (B) 4m/s?
(C) 8m/s? (D) zero (C) 8m/s? (D) A
2-BA | [ 6] | Contd...
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016. For given LR circuit, growth of current as function | 16, feu 7w LR ufmy § amq 6l qﬁg &I 9T % Bod O
of time ¢ is shown in graph. Which of the following ¥ =9 1zt T 21 e § @ e e iy Eg:
option represents value of fime constant most ¥ ToTu w1el a7 % gad T £ 7 i'g\
closely for the circuit? O
i (A) HA) (@)
+ - L R t I maximum=2A i
L R Imaximum=—2A Y DRI, ... A A
— i - . e Pimnd monrioe S (®)
vl 06+t 1 A
I . b o
‘T h e 035,00 Lot EOZ
(A) 0.4s (B) 0.7s (A) 0.4s (B) 0.7s
(€) 1s (D) 24s (C) 1s (D) 2.4s
017. Radii of two conducting circular loops are hand @ | 017. @I eIt Ca ﬁgﬁ i B p Ul o JET
respectively where b > > a. Centers of both loops b>>qa, A % e grardt & AfRT A1 Sl *
coincide but planes of both }nops arerperpendlcul‘ar T 5\ FEﬁ S e e
to each other. The value of mutual inductance for
these loops : F1 A 2
2 2 2
LoTra® o h? HoTtd Moy Th
(A) =35 (B) 5, (A) 55 (B) >
. Ko Tab o ab
(C) zero D) 3 (a+b) (C) I (D) 2@+ h
018. A block of mass of 1kg is moving on the x axis. A | 018. ZSIUN lkg &1 U &Aleh x 318 W T 8 30 W
force F acting on the block is shown. Velocity of HET § F REER 8 | 99 =25 T Sclieh Sl o
the block at uma.‘: t=2s 1s — 3m/s. What is the speed —Imls 2 W T =45 T AR TS 91 B
of the block at time r =45 ?
F(N) F(N)
5 5
"\ ' N3 4 5
1 \3 4 5 of— —
O3 N\ tsec) 2N\ thee)
. peeeaeaae
—gF-=—=—=—==- o
(A) 5m/s (B) 8m/s (A) S5m/s (B) 8m/s
(C) 2m/s (D) 3m/s (C) 2m/s (D) 3m/s
019. Two pﬂrtiﬂlﬂE P and Q arc mmfing on a circle. 019. a 0T P 99T Q Tsh q;ﬂ‘ °E Tr% &HT '{% 'él 'Fq,)r—gﬁ &quT
At tain instant of ti both th rticles ;
a certain instant of time bo ¢ particles A5 = frrle & T p 1 TR
are diametrically opposite and P has tangential ‘ N . o
acceleration 8m/s® and centripetal acceleration 8 m/s? TAT IAHehlGH T Sm/s® B Selfh Q hared
5m/s? whereas Q has only centripetal acceleration s7firehfed o 1 m/s? Waar 2 | feu o & o Q
2 . . . 2 .
of. 1 m/s=. At that 1.n5tant acceleration (in m/s<) of P ¥ T P 1 @ (m/s2 1) B
with respect to Q 1s :
(A) 12 (B) 14 (A) 12 (B) 14
(C) 80 (D) 10 (C) /80 (D) 10
2-BA | | 7] | P.T.O.
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020. In the given figure, atmospheric pressure Py=1amm | 020. &= 4 agreeia @ Py = 1 arm q91 R &9 6

TS 9cm B | ACH # Uieg T #1 @ P F
the gas enclosed in the tube is : &I ?

—_— —

PN
©

and mercury column length is 9cm. Pressure P of

FAN
©

-
RO

Ty
L
RO

P,=latm P, =1atm

L

LN
O

L

liquid f=zz==2| 1 liquidfzzzz22| ¢
e . it 9cm
He A-z222z(9cem He *Fzcs:ss

O

L
Y

W
O
LI
11
I
I
I
1
I
—
LI
[0
[N
[N}
I
[N
11
-—

Y

L

5
o el T el O el O Ml i Bl Y el O Bl o Ml i Ml i el e el

F /N
N/

(A) 85cm Hg &Y T@
(B) 67cm Hg &Y g&
(C) 90cm Hg &Y T&
(D) 78cm Hg &Y T&

(A) pressure of 85cm of Hg
(B) pressure of 67cm of Hg
(C) pressure of 90cm of Hg
(D) pressure of 78cm of Hg

021. PV diagram of an ideal gas is shown. The gas | 021. U 371€¥ 719 &1 PV @ 2901 77 & | 79 6l

undergoes from initial state A to final state B such
that initial and final volumes are same . Select the
correct alternative for given process AB.

Pt A

-V
(A) process is isochoric

(B) work done by gas is positive
(C) work done by gas is negative

(D) temperature of gas increases continuously

A small object of mass of 100gm moves in a circular
path. At a given instant velocity of the object is
10/ m/s and acceleration is (20i + 10;) m/s*. At
this instant of time, rate of change of kinetic energy
of the object is :

(A) 20 kgm*s—

(B) 200 kgm?s—

(C) 300 kgm?s—

(D) 10000 kgm?s3

URIETeh 37T A H II[qH JATEAT B 9% UshH 29
YR 2 T g sta 9 23faw stds 99 2|

feu v AB wshH & oAU w8 faecd == &4
Pt A
B
-V

(A) shH THITIG &

(B) 79 20 & gIcH 2
(C) 19 grI 14 RUeH 2
(D) T T 19 SAR sgdl 8

. Th B 9% fFEd1 gIE 100gm 8,98 TH

JETRR 9 | M Hclt 81 fheft &0 T 6 g A
AT 107 mis AT TGO (207 + 107) m/s> 81 G &0
T g <l Tfas S1 A qiadd i gt Bt

(A) 20 kgm?s™
(B) 200 kgm?s—
(C) 300 kgm?s—
(D) 10000 kgm?s3

2-BA |

[8]
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023. A time varying horizontal force (in Newton) | (23. gy yfedi dfaw s« (A ") F=8]sin (471)| KO
F =8 |sin (4xt)| is acting on a stationary block of T FoH H @ 2ke % Sl T RETHET o 2| Eg:
. " ¥ . s ~ * E: H
rbr;asa:fkgdas shmj. Frlcn;-t; coe{jﬁclenlt(l;)etfwﬂee;}:hﬂ & s o Wi % Teg 7Y u=0.5 qn 52:
ock and ground is #= 0.5 and g= 10m/s~. Then 5 !
) " g=10m/s> | sciieh 1 qitomt nife Bt (®)
resulting motion of the block will be : H
O
2kg F 2kg F E:H:
e AALLA NV ANV R MR R AA NN N 20
" JH'L
(A) It moves towards right (A) <RI A% T e g"ﬁf
(B) It will oscillate (B) Grer s O
(C) It remains stationary (C) form # & wm
(D) It moves towards left (D) &Rt @t Tfd
024. Take Bulk modulus of water B= 2100MPa. What | 024. I8l Sl &l 3 TAIdT oM B = 2100MPa
increase in pressure is required to decrease the fifsre | S1et % 200 <feX =T 1 0.004 gfdwma
volume of 200 liters of water by 0.004 percent ? "o o fofe fehan gre gftada stavgs 27
(A) 84 kPa (B) 210 kPa (A) 84 kPa (B) 210 kPa
(C) 840 kPa (D) 8400 kPa (C) 840 kPa (D) 8400 kPa
025. Thin semicircular part ABC has mass m; and 025. 9dd 3T gl ¥ ABC bl geIHH m g qaen
diameter AOC has mass m,. Here axis passes E AOC T 2sgH ”"2% IT2T AT o HEd ﬁﬂ
through. mid point of diameter and the axis i1s o 3787 TSIl 2 dY1 99 ABC o radd 3787 2 a1
perpendicular to Plam.e ABC', Here AQ—OC—R. AO=OC=R 2 | E'HH'QT-F» firerra <l 3@ & (axis)
The moment of inertia of this composite system 3wt 2 -
about the axis is: ' : '
: Axis
Axis "
A
A R2+ H’IER‘_ B ey R2 kY .‘anE
(A) m 12 (B) 2 3
mR>  myR m, R
(C) '2 T (D) mR*+ 23
026. In Young’s double slit experiment, the path | 026. a7 & fgfesg T ° 9 W U ]%'% T S R
difference between two interfering waves at a point HE Irel 2 g0 o "L 9YTat dutesd 1 13.5
on screen is 13.5 times the wavelength. The point is: o B ]%FS BT
(A) dark (A) 3AEH
(B) bright but not central bright (B) &9 W=q g H &l
(C) neither bright nor dark (C) A1 <\ T 8 3Em
(D) central bright (D) = W
2-BA | [9] | P.T.O.
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027. A ball having. velocity v towards right and having | 027. we T foger zferomed =i an 8, 98 erff %
angl.,llar Vﬁluc_lty t]ﬂck_mse approaches the wall. It AT v A TF TGN I TWE TG @ 2| R F
collides elastically with wall and moves towards T8 TR T F R a9 9% aef 9 witedt @ |
left. Ground and wall are frictionless . Select the
correct statement about angular velocity of the ball ;‘zﬁ;q wm%ﬁ lg‘z?( % |1 E::ﬁ% ul

I EXERCPE -

after collision.
W
—\m \

v v

FAN
©

o
L

F /N
™=

®

L
I"\

PN
©

PN
©

o
L

P
©
o = o' = ooy = aToy = paton = paTey = ooy = patoy = o = potog = pategy =

F /N
N/

(A) cfequmad grft
(B) ammEd &l
(C) 4% ¥ & 1l 8
(D) =i et et 2

(A) It will be clockwise

(B) It will be anticlockwise
(C) It becomes zero

(D) Angular speed decreases

smallest circle when projected with same velocity
perpendicular to magnetic field ?

028. Which of the following particle will describe the | 028. fo=1 vl § & a1 w1 gad B B &1 9o

ST S T8 Jreehi & o Tread qHH 9T
q&Iyd fohdn SITm & 7

(A) electron (B) proton (A) 3@?}:{ ¢
(C) He (D) Li* (C) He (D) Li

029. A loop PQR carries a current of 2A as shown. A | 029, ﬁr:r@an Ush ¥ PQR 0 U 2A 2 | T @AM
uniform magnetic field (B=2T) is parallel to plane ﬂ'ﬁﬁ'ﬂ &3 (B=2T) o9 % dd & gHT=R & | v

of the loop. The magnetic torque on the loop 1s : T FETh ST ¥
. |E’ - | ;
i
P pE— :
(A) 4 Nm (B) 16 Nm (A) 4 Nm (B) 16 Nm
(C) 8 Nm (D) zero (C) 8 Nm (D) A
030. Thesidesofarectangleare 7.01 mand 12m. Taking | 030. Ush A/=d hl ‘{-]JGIT@;' 7.0l mTAY 12m 2 | Tk el
the signliﬁ}:ant figures into account , the area of the I o U ST &THA B
rectangle 1s :
(A) si m? (B) 84.1m> (A) 84m? (B) 84.1m?
(C) 84.00m2 (D) 84.12m> (C) 84.00m? (D) 84.12m?
031. In steady state, charge on 3F capacitor is : 031. TIRM 3GEAT H 3 F VAT T AT EAT:
18V 18V
6uF GuF
60 60
3p|F_ 3uF_|_
(A) 54 uC " (B) 36uC (A) 54 uC (B) 36 uC
(C) 27 pC (D) 18 uC (C) 27 pC (D) 18 uC
2-BA | [10] | Contd...
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032. Cons.lf:ler one dlmf:.nsmna] motion of a paﬂI{flﬁ:. 032. U &0 o foTu ueh faefigr wfq <fifsro | =gt < v 9o ;:E:
Velocl.ty V Versus tm:ue t gragh 18 shown,_Whlch TOT ¢ % 9 UTH E9ITET AT | T U THY O]
tg:;};l;l‘}s most appropriate for displacement x versus T ] T w9 2T R 7 Eg:
-y % oS
™S
ECJH\.
N\ \ 20,
>t %‘*
> ™S
t X b s E<.r'H“u.
(A) (B) i (A) (B) : ©)
t t t 0 t
X q,x X v
0 =1 0 t 0 . 0 t
033. An object of mass 26kg floats in air and it is in | 033. ZEIHE 26 kg 1 I& 7T o aet HTEIaE]
equilibrium state. Air density is 1.3kg/m’. The feafq ® 8 | 891 1 99cd 1.3kg/m® B | I%q I
volume of the object is : A 20
(A) 26m° (B) 10m (A) 26 m? B) 10m3
(C) 20m’ (D) 13 m? (C) 20 m3 (D) 13 m3
034. In the given circuit cell E has internal resistance of | 034. feu 7u ufigy § ¥ E 1 G 9y r= 20
r= 28 What is the value of resistance R so that 2| 9fGUg R 1 9 =41 M1 18T difeh oy R
power delivered to resistor R is maximum ? 1 TgH i T3 Witk Afeehad anfl ?
(A) 1Q (A) 1Q
©) 3Q (©) 30
035. Two cylindrical rods A and B have same resistivities | 035, @I SR B A 99T B sl Sfatierehdr @9 & 991
and same lengths . Diameter of rod A is twice the AE I A 2 | B8 A &1 o9H B8 B & A9
diameter of the rod B. Ratio of voltage drop across T AT 2 | B8 A W diced] &1 8 B W dledl
rod Atorod B is : %;meraqgcnaém%? )
A B A ' 5
—{ ) - —{ Jam 7
IE [
I'E
1 "
SR B 3 (A) 7 B %
(C) 2 (D) 4 ©) 2 (D) 4
036. Whichofthe following material is not ferromagnetic | (3¢, o= & & a7 yeTd A Tegreehed H%hi“ﬁ FIAER?
In nature ? |
(A) Al (B) Fe (A) Al (B) Fe
(C) Co (D) Ni (C) Co (D) Ni
2-BA | [ 11 ] | P.T.O.
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037. Three small balls of masses lkg, 2kg and 3kg are | 037. T&I9M lkg, 2kg a1 3kg <l dH B 7T Th &
moving in a plane and their velocities are 1 m/s, GGl 53[ Eb SHHI: 1 m/s, 2 m/s 99T 3 m/s £ ﬁ'ﬂﬁﬂﬂ
2m/s and 3m/s respectively as shown. The total
angular momentum of the system of the three balls
about point P at given instant of time 1s :

Im/'s

PN
©

FAN
©

o
L

P .ldu.
e A e
o = o' = ooy = aToy = paton = paTey = ooy = patoy = o = potog = pategy =

:O: 1k?b-_,—>1mfs 3kg
A : 3
:O: im ! 2m/s
.I(Hj\ P B s 2kg
3 :I-I: (A) 7 kegm?s"! £m (B) 8 kgm?s (A) 7kgm?Zs! (B) 8 kgm?s!
® gm-s gm-s 2.1 2.1
N (C) 9kgm?s"! (D) 36 kgm?s"! (C) 9 kgm=s (D) 36 kgm-s
038. Three i1dentical resistors each of resistance R are 038. o Ush FHE UfauY 51 g &1 gfaiyg R 3 I
connected to an ideal cell of voltage V as shown . V dice & 371e9 O ° mﬂ,jﬁ.{ SISl STaT 2 o1 &1
Total power dissipated in all three resistors is : T gt & Fd =fra sifes -aﬁ-rﬁ
N R
R R
b 3v? 2V* 3V?
(A) 3R ®) 7R (A) 3R ®) 7R
W" V? 3V? V?
(©) D) zx 8 = D) 3g

039. For given logic diagram , output F=1, then inputs are: | 039. feu mu o afwy & frfa F=1, a= fash 2:

A
) O E-! o) O HE-!
(A) A=0.B=0,C=1 (B) A=0,B=0,C=0 (A) A=0,B=0,C=1 (B) A=0,B=0,C=0
() A=0.B=1C=0 (I} A=1B=1C~=] (€C) A=0,B=1C=0 (D) A=],B=1,C=1

040. Consider two polaroids A and B as shown. | 040. m‘qalgma“rqﬁﬁs@A dem B W fo=m Sifam)

Unpolarized light is incident on polaroid A. Now rgfad gehm Tiollse A 9C 3{19fdd &arar g | 379
both the polaroids are rotated simultaneously by 21 TIeRISE S U d1Y 180° E;Ui'—l us & fosm &
180° in same sense of rotation such that at every =0 THER qﬁ?l e STaT 2 55 e afor et
instant, their pass(transmission) axes always > % = 8 5
remain parallel to each other. During the rotation, T 34 QEE HHT~T E[?i:'
intensity of transmitted light through polaroid B : S 'il@lﬂsg B & 9rITfid Sehrer shi fsra :

— A (\

—6—

A B

(A) decreases continuously Eg)) TP He Iﬂl %
(B) increases continuously TR o -
(C) first increases then decreases Eg)) v B % it 2

(D) remains same
041. Activity of a radioactive substance becomes from | 041. ush ifearaisha yere 1 "iskad 8000Bq ¥ 1000Bg

8000Bq to 1000Bq in 12 Days. What is the half life a% 12 fet O & et 2 | e e
of the radioactive substance ? 34@31'@ FR?
(A) 3 days (B) 4 days (A) 3T (B) 4 f&
(C) 6 days (D) 2 days (©) 6 fa (D) 2 f&
2-BA | [12] | Contd...
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042. The energy levels of a hypothetical one electron | (42, ueh U Uh FeigeH THTY] e & 39 T O
, ¢
atom system are given by E,=— L—?ev, where E.=— 163 eVBIE (n=1,2, . 2 | 99 I8 HO]
n ¢
n = 1, 2, 3,....The wavelength of emitted photon Y| Il 31T ¥ Yo Tl § HhHvl hdl § a9 52:
corresponding to transition from first excited level IeETod WM i quTeed Ty g (@)
to ground level is about : . . E‘g;
A) 690 A° B) 1035 A° (A) 690 A (B) 1035A K
(C) 1220 A® (D) 3650 A° (C) 1220A° (D) 3650 A° pi
©
043. What is the voltage across an ideal PN junction | 043. feamgaw gfgy T few U srest PN EfY g EE w ES:
diode for Sh{)wtz‘l 1':;11*:::1,1“ ? Sleedr 41 Bt ? B
— 2
i —
M-
100 Q 34
(A) OV (B) 0.7V (A) OV (B) 0.7V
©) 1v (D) 2V (C) 1V (D) 2V
044. Power emitted by a black body at temperature 50°C | 044, @™ 50°C 9 U F{hT gHI Iegfold oIk P 2 |
is P. Now temperature is doubled i.e. temperature of 376l FHSUfleR] ATd AT FATT 100°C *X fear wran 2
black body becomes 100°C. Now power emitted is : a1 319 Ieafaa vife a8l
(A) 16P (A) 16P
(B) greater than P but less than 16P (B) P H 314 9= 16 P 4 %A
(C) greater than 16P (C) 16 P ¥ Afae
(D) P (D) P
045. An experimenter needs to heat a small sample to | 045. Teh TN Ueh BT Tfeiedl (sample) ST 900K d™™
temperature 900K, but the only available large deh TH AT IEdT 8 q{~<] SISl I& (object) I
object has maximum temperature of 600K. Could 3ucTey ATUhaY A9 hdd 600K &1 T JIRTES
the experimenter heat the sample to 900K by using g TemgER a1t ag g faferor =1 s a2 ©F
a large lens to concentrate the radiation from the 2 ufdest w hied &t ufaest &1 900K @19
large object onto the sample as shown below ? ST Gehal 8 7
— sample | %ample
object lens object Ilens
(A) Yes, if the volume of the large object is at least (A) &, afz 5 T T ST wfred % s
1.5 times the volume of the sample. , '
(B) Yes, if the front area of the large object is ?m"[ 1.5 9T T feam e |
at least 1.5 times the area of the front of the (B) &I, I 5 9] <l T Wmaﬁﬂﬂ@
sample. &%l 1 H H A 1.5 TOT KL T =g
C) Yes, if the sample is placed at the focal point i ;
©) e P (C) &, 3t wftest 1 o & wiehw formg Wt T
(D) It is not possible (D) ¥g &vd Tl 2 |
2-BA | [13:] | P.T.O.
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On 046. Consider a small electric dipole with magnitude of | 046, s BT ﬁgjﬁ %ga ISEED ﬁ;ga 3:|T\;Eﬁ T giETo
:5:, dipole moment p which is placed far away from point p & ST 1%!% AT FHTH T fémgm'{ & AT 2 |
:&ﬁ A as shown. The electric potential at the point A is : lﬁﬁ_ AW ﬁi@'ﬂ faya % i
:l{a A P A p -
k
"%g (A) exactly zero (B) f (A) qc'\uiﬂm A (B) 2
7 k kr =k p k
ZE - =P
& = @) =P D) =
XD
‘93 047. A conducting loop (as shown) has total resistance | 047. ﬁ':l‘la'{:lﬂ Teh <Tcish <[4 <hl hed gfalle R 2 | ™
R. A uniform magnetic field B = y¢ is applied % dd & Ardd ThHEHH TrTh & B =y £ Rl
perpendicular to plane of the loop where y is a e foa Sirer & S y 3T 2 qe ¢ 99 2|
constant and ¢ is time. The induced current flowing e e T e
through loop is : T o '
| - o
| ! | 1 I
=g ¢ B
2. 2 A >, 2 b2+ a%)y (b + a*) t
B>+ dd)y b+ a®) yt o tayr
@y Era)y @ &t & ® "
2 = ¥ sl & e
b= )y (b2 — )i b’ - a); (
(©) (T' (D) : © —3 (D) R
048. A uniform disc of mass M and radius R is hinged at 048. cHMA M d BT R &I U ThTH =ehd| ??'H %2 C W
its centre C. A force F is applied on the disc as shown. icifehd & | Tsh 91 F bl Tehdl W ﬁl‘:ﬂg{:ﬂ? e
At this instant, angularracce]crali(}n of the disc is : fpm sTar 2 1 3@ Fl'ﬁ?r <okl S HIVE T 2:
F ~_ F F F_
F 2 _F F 2 _F
© wMr D) 7F MR © Mr D) A MR
049. The velocity of a particle is zero at time t=2 , then | 049. H#I t=2 W Ul &1 97 I 8
(A) acceleration must be zero at t=2 (A) t=2 9 T I & AT |
(B) displacement must be zero in the interval (B) t=0H t=2 370U« | foreemd NG BB |
(C) ;:ci[t:r;t:ii; may be zero at t=2 (0) =2 WMo Bl HRA R |
. Y (D) t>2 o fofu 3w v & & |

(D) wvelocity must be zero for t=2

050. A ball moving in xy plane, has velocity (47 — 4j)m/s | 050. & & xy T H Td & & 9 FHHA 9 ZaL 4

just before the collision with ground. Coefficient of 3Tk tﬁ a7 (4: — 4] )m/s B| THL & T Teqmaeq
restitution for collisionis e = % What will be velocity W €9 %l SHIT & T % Sl T T7g
of the ball j 8 after the collision with ground? o =T ﬁmo?
y \
b N
mL X mL X
(A) (4i+4))mls (B) (2i+2))mis (A) (4i+4))mls (B) (2i+2))mls
(C) (4i+ 2))mls (D) (2i+4))mis (C) (4i+ 2))mis (D) (2i+4)mis
2-BA | | 14 ] | Contd...
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051. The pair of metal carbonyl complexes that are | 51. WWWWWW%W ;% ‘
isoelectronic is : 2. ‘o
: =
(A) [Co(CO),]" and Ni(CO), (A) [Co(CO),]" 3R Ni(CO), O
(B) Ni(CO), and V(CO)g (B) Ni(CO), 3R V(CO), O
(C) [Cr(CO)4] and V(CO), (C) [Cr(CO)(] 3R V(CO), Sy
(D) [Fe(CO),] and Cr(CO), (D) [Fe(CO),] 3T Cr(CO), K
NI
052. Which one of the following has (have) octahedral | 052. = # & fopmeht /fepeht swmarehia sanfafa & ? %‘ )
geometry ? A
(i) SbCl; (i) SnCIZ &  ShClg () SnClg
A - 5_
(l[[} XEFﬁ (1'\-") 10,5_ (l[l} XEF,& (H") lOﬁ
(A) (1) (i%?.& (111) (B) (1), (11) & (1v) (A) (1), (i) & (iii) (B) (1), (i) & (iv)
(C) (ii), (iii) & (iv) (D) All of these (C) (i), (i) & (iv) (D) ¥ &+
053. In terms of polar character which one of the | 53, gt 'g?z,l-ﬁ & TeH o T o st e g8 2 7
following orders is correct?
(A) NH; <H,0 < HF <H,S$ (A) NH; <H,0<HF <H,S
(B) H,S<NH,<H,0<HF (B) H,S <NH; <H,0 <HF
(C) H,0<NH, <H,S <HF (€) HO<NH; <H,S <HF
(D) HF <H,0 <NH; <H,S (D) HF <H,0<NH; <H,5
054. Among the following compounds of Boron, the | (54. s & f=fafEg D=l 4 @ 19 ¢ — 9497 < 1Y
species which also forms m—bond in addition to Y 1 — & o TR
o—bonds is: '
(A) BF, (B) BH, (A) BF, (B) BH;4
(C) B,Hg (D) BF, (C) B,Hg (D) BF,
055. Identify the Bronsted acid in the following equation: | 055. 4= dieor § g 370 &l UgaM:
PO;” + H,0(l) - HPO; (aq) + OH  (aq) PO, + H,O(l) - HPO; (aq) + OH (aq)
(A) OH™ (B) PO;” (A) OH™ (B) PO;”
(C) HPO, (D) H,0 (C) HPO, (D) H,0
056. The number of grams/weight of NH,Cl required to | 056, @M 298K W 9.45 pH @ &% fafesq &I dIR
be added to 3 liters of 0.0IM NHj; to prepare the H & foau NH,CI % fohdd oW /91 =+ 3 ofi
buffer of pH=9.45 at temperature 298K : 9
6. k. e TRETE 0.01M NH, % fafers @ faermn s
b 3181 (¥&T NH, & folg K, =1.85%107)
(A) 3.53 gm (B) 0.354 gm
e =i (A) 3.53 gm (B) 0.354 gm
(B Aasgm {B) adig (C) 4.55gm D) 0.455gm
057. For the reaction 2HI(g) =—— H,(g)+ L,(g)the | 057. 3fufskam 2HI(g) —— H,(g) + 1,(g) 1 To==H
degree of dissociation (o) of HI(g) is related to 1 B (o) GreaTaEyT R K § 957y 2
equilibrium constant Kp by the expression: P
f—— e f
1+2/K, | 1+ 2K, 1+2,/K, | 1+2K,
@ —=E @ W TRy
Al TR 1+2/K, V142K, 1+2/K,
2-BA | [15] | P.T.O.
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:ﬁ:; 058. A6% SDll:ltlﬂn of sucrose CEZHZEO_I | 18 isotonic with 058. ﬂgﬁj{ CEEHZZOII HT 6% ﬁ?ﬂﬁ Ush 37374 ?ﬂﬁ'ﬁa;
@: 3% solution of an unknown organic substance. The q'a'[gi a:, 3% ﬁ—éﬁ]—;[ % |1 m’rﬁ %' e NG|
:g:i molecular weight of unknown organic substance FE erd T SIS YR B
SR will be:
7 (A) 342 (B) 684 (A) 342 (B) 684
O3 (©) 171 (D) 100 (C) 171 (D) 100
: 5
;&ﬁ 059. The enthalpy of the formation of CO, and H,O are | 059. CO, R H,0 ¥ TYST H T F G FHUI:
. .
; ’5‘“;} — 395 kJ and — 285 kJ respectively and the enthalpy -395 kJ 3T -285 kJ 2 3 Q%ﬁ;ﬁ Qﬁ:rg & 2Ed
NTL olic;nmbu.stion f(3:1“:r31-;:e.ti1;: acclid is 869 kJ. The enthalpy ST 869 kJ 2| wfifees ufire % Gyad o oo &
of formation of acetic acid is:
A) 235kl] B) 340 kJ
(A) 235k (B) 340 kJ (A) &)
©) 420K (D) 491 kJ (C) 420kJ (D) 491 kJ
060. Which of the following is a lyophobic colloid : 060. =1 o @ FiEr us gafanft wiemss 2 -
(A) Gelatin (B) Sulphur INBEEEE (B) HeH
(C) Starch (D) Gum Arabica (C) wrE (D) ™ e
061. For car battery which one is correct statement ? 061. SR I sl o U ST FIA TF 8 7
(A) Cathode is Lead dioxide (PbO,) and anode is (A) FIS oIS SRS (PbO,) Td TS oIS
Lead (Pb) (Pb) T 2
(B) Cathode is Lead dioxide (PbO,) and anode is (B) HATS IS SEIATFTEE (PbO,) Td THIS T
Copper (Cu) (Cu) BraT 2 |
(C) Cathode is Copper (Cu) and anode is Lead (€) hUlg HI (Cu) T TS o8 SRAEES
dioxide (PbO,) (PbOy) ) BT R
(D) Cathode i1s Copper (Cu) and anode 1s Lead (Pb) (D) HATS FT (Cu) T TS S (Pb) & @
062. Considering entropy(s) as a thermodynamic | 062. Tl = $EIII'I1T|-'EF€I e AHd ge foheft T
parameter, the criterion for the spontaneity of any yafdd ¥shd & o ogdt aftads g
process the change in entropy is : (A) (A Sﬁ_ﬂ —AS " )>0
(A) (A Ssystem - ﬂSsurmunding )>0 (B) W :ﬁSﬁH >0
(B) &SE}’S’EEH‘: >0 (}1’11}" (C) W AS >
(€) AS surrounding >0 only D) (AS. + AS >0
(D) (A Ssystmn+ ﬁssurmunding y=0 (D) | SFH e )
063. At low pressure and high temperature, the Vander | 063. W e 3R 3= A T, 18T ATl FHISHLT
Waal’s equation is finally reduced (simplified) to : 3fam H{Fﬁ'@a’_d giafad 9 g
(A) PV_=RT (A) PV_=RT
a - a o TR
(B) (P+ 72 ) (V,— b)=RT (B) (P—I— V2 ) V,— b)=RT
(C) P(V,, —b)=RT (C) P(V,, —b)=RT
a — + 3 = =
(D) (P+ 72 ) V, =RT (D) (P 5 ) V, =RT
2-BA | [16] | Contd...
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064. Which graph represents the zero order reaction | g64, f5=r & @ wHimem g = Hife  aAfufrn Ol
[A(g) - B(2)] [A(g) ~ B(g)] 1 W&HId T 2 : b
R ds | — ds | X
(A) (8] (B) dt (A) (8] (B) dt SR,
B S EHx,
t t t t :U; |
L — 'Ei_’lll\
L t :pf |
(©) b (D) “t (C) Y (D) t,, K
I R | Ot
[Al, [A], [Al, [A], fOx!
065. Which of the following compounds is insoluble | 065. fa= ® & i@ Afes T w12 H2504ﬁ o} 31fae
even in hot concentrated H,S0,,? 27
(A) Ethylene (B) Benzene (A) Ui (B) S|
(C) Hexane (D) Aniline (C) e (D) U
066. The half life of Th*>2 is 1.4 x 10'0 years and that | 066. Th?32 @i 319 3T &1 °F 1.4 x 1010 99 7 3R
of its daughter element Ra**® is 7 years. What Y 394 gl dcd Ra?38 & 314 3y 7 99y 7 |
amount (most nearly) weight of Ra%*® will be in Ra23% & fehadl (We® @diuaq) dmm Th?32 &
equilibrium with 1gm of Th?32 ? lgm TTAT < A1 91 § A 7
(A) 5x10"m (B) 5.0 gm (A) 5x1010gm (B) 5.0gm
(C) 1.95x107%gm (D) 2x1010gm (C) 1.95x10%gm (D) 2x1010gm

067. Which of the following electron has minimum energy? | 067. FHIEd H ¥ ShiET SciggA A9 Hall T@dl 8 7
1 I

(A n=3, I=2, m=-2,s =+~ (A) n=3, 1=2, =2 =
(B) n=4, I=0, m=0, s=+7 B) n=4, =0, e=0; 5=k
©) n=4, I=1, m=+l,5=+% © n=4, 11,  m=+ls=+L
(D) n=5, [=0, m=0,s=+ ]2 (D) n=5, =0, m=0,3=+]5

068. Total number of stereoisomers of the following | (e8. T Fifiesl & Hfey Tyl 6 g Ha: 3

compounds are respectively :

OH OH
OH OH
Vi
/ W\
/W\ A/\( OH
| . o8 (i) (i)
0 (i) (A) 4,6 (B) 8.0
(C) 6,6 (D) 8,8
069. Which of the following is a monomer of Dacron: 069. ™= T ¥ ST SHH FI Thatsh 8 7
(A) CH;—CH—CH=—CH; (A) EH,—CH-=CH=CH,;
Cl Cl
| |
(C) COOH— )—COOH (C) COOH— )—COOH
(D) HOH,C—- CH,0H (D) HOH,C— CH,OH
2-BA | [17] | P.T.O.
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070. Which of the following is a meso compound ? 070. = ﬁ_ T En gt difies 2 7

(A) TE -1, 4- SEAICHEFARFT
(B) f&@ -1, 3- eEufocERTRaEA
(C) oE -1, 3- SEAfITaEFAgTE
(D) fo@ -1, 4- eEafocETEFRTaT

071. IUPAC name of the following is : 071. =9 %1 IUPACTH % :
CH, CH, CH — CHCH,CH, CH, CH, CH — CHCH,CH,

PN
©
ed

(A) trans—1, 4-dimethylcyclohexane

FAN
©

(B) cis—1, 3—dimethylcyclohexane
(C) trans—1, 3—dimethylcyclohexane
(D) cis—1, 4-dimethylcyclohexane

PN
©

o
N
O

L
Y

N
)AL

i
PAN
OX

O

L
Y

d.\

Y

f

L7
O,
el T el O el O Ml i Ml oY Bl G e

L

C

CH; CHO
(A) 2,5 Butyl butenal
(B) 2,3 di ethyl butenal
(C) 2 ethyl-3 methyl pentanal
(D) 8 methyl- 2 ethyl pentanal

Which of the following is Reimer - Tieman reaction?
OH

(A) @ + CHCI; + ag. NaOH ——

OH

(B) @ + CHCI, + alcoh. NaOH ——

OCH,

(C) ©+CH3COC1 anhy. AlCI3

OC,H;
(D) @f CGI’IL H2804 o
Conc.HNO;
The increasing order of the first ionization enthalpies
of the elements B, P, S and F 1s:

(A) B<P<S<F (B) B<S<P<F
(C) F<S<P<B (D) P<S<B<F

Some pairs of 1ons are given below. In which pair,
first ion is more stable than second ion ?

® ® )
(A) H,C— CH- CH, and — CH — OCH,

®
(B) HSC_CHE_CH_CH}‘ ﬂt‘ld
&
H,C — CH,— CH— CH,

& &
CH: CHE
(C) O/ and O/

|

CH, CHO
(A) 2, 5 A =

(B) 2, 3 ©13 Ufird sgew
(C) 2 uf¥rd, 3 Hi¥ e
(D) 8 #fere, 2 ufere Teqa

. T | 9 e G dmm st 2 7

OH

(A) @ + CHCl; + ag. NaOH ——

OH
(B) @ + CHCl, + alcoh. NaOH ——

OCH,4

(C) @ + CH,COC] -4
OC,H;
o (0

Cnnc.Hg SOy,
Conc.HNO;

. B, P, S 3 Fdcal &l 990 T TAfCqTt =1

SGdl B3 3hH @ :
(A) B<P<S<F
(C) F<S<P<B

(B) B<S<P<F
(D) P<S<B<F

. = $S ARA % I U W 7, 3 F foray um

W;&iwﬁﬁ%w@%?
(A) HyC—CH- CHm%n CH - OCH,

&
H,C~ CH,— CH~CH,

®
(s CH,
o =Yy

H;C-CH-CH,  H;C—N-CH; H,C— CH- CH, H,C—N~CH,
(D) | and | (D) | e |
H,C— C— CH; H,C—C — CH; H,C— C — CH, H,C— C — CH,
® @ ® ®
2-BA | [18] [ Contd...
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075. Which alkaline carth metal compound is volatile 7 | 075, = ® & hIqa1 &R a7 91g Aifies arzfia 8 7 €O
&
(A) BesN, (B) Mg;N, (A) BesN, (B) Mg;N, (@)
(C) CazN, (D) None of the options (C) Ca,N, (D) 99 H S foehed T&l E‘% 1
N ™
o
076. What is the name of the following reaction? 076. = aAfufspmm s =T 8 ? '::'a: ‘
NaOH o
HCHO + HCHO RT* CH;0H + HCOONa HCHO + HCHO NﬂfH CH,OH + HCOONa i:g:
|
(A) Hell-Volhard reaction (A) & dicars Afyfsran K
(B) Clemmensen reaction (B) wAHEA (iR g-ﬁ- *
(C) Cannizzaro reaction (C) ohiferr srfdrfsran (@) i
(D) None of the options (D) ®18 o faspeq T8 h
077. Inorganic graphite is: 077. 3Tehreii-h UBIE & :
(A) B,N;Hg (B) B,Hg (A) B,N;H, (B) B,H
(C) BN (D) BF; (C) BN (D) BF,
078. Rank the following in decreasing order of basic strength: | 078. T <1 &7y G w1 el 3T shH 2
i) CH,—CH,—C=C i) CH;— CH,—C=C
(1) CH;—CH,—-§ (u) CH;— CH,—§
i) CH,—/CH;~C0; (i) CH;— CH,— CO;
(IV) CH3 = CHE —e (IV) CI‘I3 S CHE_ O_
(A)ii >i>iv > iii (B) iv > i > ii > iii (A) i1>1>1v > iii (B)iv>1>1>1n
(C)i>iv > ii > iii (D) i > iv > iii > i (C)i>iv>ii> iii (D)i>1v>ii>i
079. Among the given compound choose the two that | 079. =1 5 9 21 JNfirenl 1 =2 LA Toh A & 918
yield same carbocation on ionization. GUE 16 Y9389 F91-0 -
Bl‘ Br @\ Br BI‘
Br @ é/ Br
Br Br
(i) (ii) (iii) (iv) (i) (ii) (iif) (iv)
(A) (i),(iii) (B) (ii).,(iv) (A) (1),(1i1) (B) (i1),(iv)
(C) (i)(ii) (D) (ii).(iii) (€) (1),(ii) (D) (i), (iii)
080. Increasing order of acidic strength of given | (80, T =ifiERi i srciia amd *1 g@d B3 A 2
compounds is :
OH OH OH OH OH OH OH OH
CN OCH,4 Cl CN OCH, Cl
(i) (ii) (iii) (iv) (1) (ii) (iii) (iv)
(A) m<i<wv<i (A) ili<i<iv<ii
(B) ii<i<iv<ii (B) ii<i<iv<iii
(C) i<m<iv<ii (C) i<iii<iv<ii
D) i<m<u<iv (D) i<iui<i<iv
2-BA | [19] | P.T.O.
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(@)
T
(©)]
H
(@)
:Sﬁ 081. Which of the following effects of ~NO, group | 081. f= few T 39 7 g # ¥ s uve
:S:: operates on —~NH, group in this molecule ? NO, T8 ~NH, T8 T T BT 7
> NH, h NH
© 2
'
"> Me e
FAN Me Me
o e N2
1 :ﬁ:; (B) Only +M effect (B) Hdel +M J9Tg
% (C) Only -M effect (€) Faet M 7=
(D) Both -1 and —M effect (D) T 1 3 —M I9E
082. Which of the following material is known as lunar | 082. = T & s e R HIfEceh % AW H AT
caustic ? AT e ?
(A) NaNO, (B) AgCl (A) NaNO, (B) AgCl
(C) AgNO, (D) NaOH (C) AgNO, (D) NaOH
083. Provide an acceptable name for the alkane shown | (83, = &} T} Ucehd 1 T 10 SdTEY:
below :
H CH,CH,CH(CH,), H CH,CH,CH(CH,),
| | | |
CH_‘;CHECHECHE - C C_ CH2CH2CH3 CH:{CHECHQCHQ P C C_ CHQCHQCH3
| | | |
CH,CH; H CH,CH, H
(A) 6-ethyl-2-methyl-5—propyldecane (A) 6-Tfra—2-Afaa—s-Sfueress
(B) 5-ethyl-6-methyl-2—propyldecane (B) 5-ufud—6-Afaa—2-Sfuerss
(C) 2-ethyl-6-methyl-2—propyldecane (C) 2-ufua—6-Afaa—2-Sfuerss
(D) 2-ethyl-6—methyl-5—propyldecane (D) Z—EFW—G—ﬁfW—S—m
084. D — Mannose LD—glucose L (A) 084. D — T H=0_ [y 1@?{ H_=~O_ (A)
Product (A) of above reaction is: IYAIhH SATITHAT 1 IS (A) &
(A) D—glucose (B) D-fructose (A) D w’Ffﬁ?r (B) D - %#e
(C) D-Talose (D) D-Idose © D _3) D) D- )
085. What is the product in the following reaction ? 085. T arfyfspan =61 30 8 7
OH OH
{NH4]2 Crﬂ O? __ (N H.ﬂ,}j Crz O? R
H,SO, H2S0,
(A) Benzoic Acid (A) S=AT3eh 3T
(B) Benzoquionone (B) w=IIfepia
(C) Cyclohexane-1-one (C) HEFATRF-1-3TH
(D) Benzoic sulphate (D) =33 TTHe
2-BA | [20] | Contd...
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A
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086. How many bonds are there in : 086. fu 7@ Y] q B TR dg & 7 gg:
X - |
N\ £O)
X
e i
(A) l4c, 8n (B) 180, 8x (A) l4c, 8n (B) 18c, 81 '®)
(C) 196, 4 (D) 14c, 27 (C) 190, 4rn (D) l4c,2n %
X
087. Which of the following molecules is optically | 087. f/= & & & 319] YehIfSTeh Hishd & 7 K
active ? s - gﬁf
@ NO; NO5 © :io:
O © “‘ G ﬂ
Br @ < ©
NO, NO; NO3
; N0z (i) (ii) (i)
(i) (ii) (iii)
(A) (i) and (ii) (B) (i) and (iii) (A) (i) 3R (i) (B) (i) 3 (i)
(C) (ii) and (iii) (D) (i), (ii) and (iii) (C) (ii) 3N (iii) (D) (i), (i) 37 (iii)
088. Which of the following statement is correct ? 088. Fd & AT FF T 2 7
(A) BCl; and AICl, are both Lewis acids and BCl, (A) BCl, 3 AICI, GF1 958 37 8 Td BCl;,
is stronger than AICl, AlCl, o yrfhamedt &
(B) BCl; and AICl; are both Lewis acids and (B) BCl; 3 AICI, GFI 39 377 & Td AlCl;,
AICl, is stronger than BCl, BCl, o wifhamett &
(C) BCl, and AICL, are both equally strong Lewis (C) BCl, 3R AICI, 3Fi & wfrermelt dga
acid A B
(D) Both BCl, and AICl, are not Lewis acids (D) BCl, 3 AICL, QHI & G539 37 &1 &
089. Consider the following compounds. 089. == feu mu Aifiert 9 9 fom ifireni =6 o8 %@ & foo
shreet e TRAToTshtor <1 39T foharm T Jehalt 2
0 o]
I I i i
o= ot | ot ot
CH;0 H3C CH,0 HaC
I I1
(}ﬁ (II) ﬁ (1}0 (I1) .
@c—CHg @c—m; ©_rl;|—cn3 @—!:l—cl-l3
O,N (CH3);N 0,N (CH3),N
(111) (IV)
111 IV
Friedel-Crafts acylation can be used to obtain: Uy v
(A) LIIL, IV
(A) LI, 1V
(B) 1L III, IV
(B) 11, 11, IV
i (©) LILIV
(C) LIILIV
(D) 1,11, 111
(D) 1,11, 111
2-BA | [21] | P.T.O.
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090. Provide the systematic name of the compound | 090. F= ygffa Mfirew +1 safeea am s
shown:

PN
©

FAN
©

o
L

F /N
™=

®

L
I"\

(A) 4-sgfed - 1- e - 2 - AfremmETiEeA
(B) 4- Ffeat -2- wlora - 1- AferamEsiew
(C) 1- Ffea -4-ufyat - 3 -
(D) 2- FfedA -4-uf¥at - | -AferETZFage

PN
©

(A) 4-—butyl -1 —ethyl -2 - methylcycloheptane

PN
©

(B) 4 —butyl -2 —ethyl — 1 — methylcycloheptane

o
L

P
©
o = o' = ooy = aToy = paton = paTey = ooy = patoy = o = potog = pategy =

F /N
N/

(C) 1-—butyl —4 - ethyl — 3 — methylcycloheptane

(D) 2—butyl —4 — ethyl — 1 — methylcycloheptane

091. Give the IUPAC name for the following structure: 091. =1 &&= #1 IUPAC =0 2
CH3 CH3
OH OH

Cl cl

(A) 3 - TN - 2 - BicERTA R
(B) 2 - HiYE - 5 - FANEEFARFAHA
(C) 1- T - 4 - Bi¥cERFARFHI
(D) 5 - FAR - 2 - HiYTHEFARFAHA

(A) 3 —chloro — 2 — methylcyclohexanol
(B) 2 —methyl — 5 — chlorocyclohexanol
(C) 1—chloro —4 — methylcyclohexanol
(D) 5 — chloro — 2 — methylcyclohexanol

092. In aldol addition reaction product is always: 092. TS ANTieHeh AUHAT H Ieq1e B9 B

(A) P — hydroxyaldehyde
(B) P — hydroxyketone
(C) a, p — unsaturated aldehyde

(A) B - ERgHUcEERS
(B) P —BrEeeHbIRH
(C) a, B —3TETH TeSIEISS

(D) a, P — THJH hEH

(D) a, p — unsaturated ketone

093. Which one of the following compounds will have | 093. = 4 & &=" s % T ﬁ:ga 31'I€E'f bl HH

the highest dipole moment ? 3AfYeham g 7
@ Qe @ O
NO, NO,

O,N o,N

"o
OH

0,N 0,N

(D) @

OH OH

2-BA | [22] [ Contd...
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094. Thenumber of moles of Grignard reagent consumed | 094. 2 feu MU Aifes o ufq Ore 399 B4 9t s gf_l);
per mole of the compound : 37fYyepth o fera- O M : i%\.
™S
HO COOEt HO COOEt oH
:f W
P s (A) 4 (B) 2 X
©) 3 (D) 1 (©) 3 (D) | K
(®)
095. The paramagnetic species is : 095. O O w 2 {']L
(A) KO, (B) SiO, (A) KO, (B) SiO, X
(C) TIOE (D] BHOZ (C) TiOz (D) B302 e at
096. Which one of the following has the highest 096. Tr=1 § & Frgehy Tifirs Sifean sifisrag 27
Nucleophilicity ?
(A) F (B) OH (A) F (B) OH
(C) CH3 (D) NH: (C) CH3 (D) NH2
097. Inview uf.ﬁl,Gﬂ for the following reactions : 097. fm= arfufspanett & forw &IGU Sl &IH § TEd
PbO, + Pb— 2Pb0O, A,G"<0 g0 o (HH) o &7 & fou st stfefiento
SnO, + Sn — 2Sn0, A.G’>0 3TeEerTu 37feren Afiyearfores &7
Which oxidation state is more characteristic for PbO,+ Pb— 2Pb0O, A.G"<0
lead and tin ? Sn0, + Sn — 2Sn0, A,G°>0
() ForTaad . Tortin 42 (A) T8 % T +4, 17 % fow +2
(B) For lead +2, for tin +2 (B) &€ forw +2, &7 % ferw +2
(O For Tead i For fint4 (C) W * foIu +4, f&7 % ferw +4
(D) Forlead 42, for tin +4 (D) g ferw +2, fed & foTw +4
098. Which of the following compounds will exhibit | 098. = 9 5 sHE i s saeEEdr ygia
geometrical isomerism? T ?
(A) 1-Phenyl-2-butane (A) 1-ThATEA-2-5A
(B) 3-Phenyl-1-butene (B) 3 -THA3d-1-82H
(C) 2-Phenyl-1-butene (C) 2-THATSE- 1 -=IEH
(D) 1,1-Diphenyl-1-propene (D) 1,1-3T8 ThaTsai- 1 -4
099. At Critical Micell Concentration (CMC), the | 099. Shifde fHEE OTedr W ke~ A
surfactant molecules: (A) A9Efed Bd @
(A) decompose (B) g 2 8
©) ssite e s e
(D) become completely soluble (D) B &
100. Which one of the following will be reactive for | 100. 9feh To== tfufshan o fou f= ° o =619 TsRamsfia
Perkin condensation ? B ?
(A) CHs—CHO  (B) CH;=0~O)~CHO (A) CgHs=CHO  (B) CHy—0~O)~CHO
(©) CHy; (D) CHO (D) O,N~O)-CHO (€) CHy«D)-CHO (D) ON~O)-CHO
2-BA | [23] | P.T.O.
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101. Coacervates are : 101.

HITHaE A #:

(A) ferdmd=

(B) I, FeieRse wd S & fHym
(C) wicgsa fHemwem

(D) 981 37F Ud ANl Afren

PN
©

o
L

(A) Lipoproteins

\ NI N
A

(B) Mixture of Ammonia, carbohydrates and

i
L

PN
©

water

AN
©

(C) Colloidal suspensions

o
L

L7
O,
el T el O el O Ml i Ml oY Bl G e

FAN
N/

C

(D) Fatty acids and nitrogenous compound

Hegell 3ecATTIel IHErRl B
(A) am fEEm % fau

B) 3 % fau

(C) Hfd & ferw

(D) Hged * ferw

102. Medulla oblongata is responsible for : 102.
(A) Thermaregulation
(B) wvision
(C) memory
(D) balance

103. The cockroach of genus Blatta is also | 103. &A@l a3 & ipus (fae=g) &t 78 o

called :

(A) German cockroach
(B) Australian cockroach
(C) Oriental cockroach

(D) American cockroach

Hgl W B

(A) SHA iR

(B) 3TMEfeta whishiist
(C) 3N hihl
(D) 3{HNERT iRl

9" Wd Uieheut W wftafad g R

(A) fomm, Sframy, haeh, Ueldl U UfHATERT
(B) AU, Wifeee, waeh, qa Ud THAfA

(C) Sfamv], ehash, UlGY T S

104. Groups of five kingdom scheme are : 104.
(A) Virus, Bacteria, Fungi, Plantaec and Animalia
(B) Monera, Protista, Fungi, Plantae and
Animalia
(C) Bacteria, Fungi, Plant and Animal

(D) Fungi, Protista, Plant and Animal (D) =dh, EiliEEI, qred @ Siq

105. Hygroscopic roots are found in : 105. STEammd WS U W §
(C) Orchid (D)  Typha (C) Ak o (D) TIEH o
2-BA| |24 ] | P.T.O.
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106.  Fruit of Mango i1s a : 106. 379 &1 %A 2
(A) Pepo (B) Pome (A) iy (B) g
(C) Berry (D) Drupe (C) =h (D) T

O

P
O

L
Y

I'lml'l\dbl'l':?b
O

et
OX

ey
i

Y

OO

M

107.  Passage cells are found in tissue : 107. HFl HIPEN 39 Fde § e I 8 §
(A) Epidermis (A) A=
(B) Xylem (B) SEeH r
(C) Endodermis (C) oS s g
(D) Pericycle (D) qiaEy

L
fal

b
WO

b
O

B
1

108. Adenosine is a : 108. q%qﬁ-fgq 2 UH -
(A) Nitrogenous base (A) q@gﬁ;ﬁ R

(B) Nucleoside (B) fFararse

(C) Nucleotide (C) :'iﬁ\a?ﬁagg
(D) Nucleic acid (D) :IE-[%]% v |

109. In blue green algae, photo synthesis takes | 109, +fig sf@ 9 4 ysw g¥oyn & fGH

place in : TOH BIdl @

(A) Chloroplast (B) Lamellae (A) FANARL (B) wfeft

(C) Heterocyst (D) Carotene (C) U= (D)  HUIH
110.  What is plasmid? 110. wfsgs &1 gar 27

(A) Bacteria (A) e

(B) Virus (B) TesTo]

(C) Chromosomal DNA segment (C) Trrggﬁq DNA @E

(D) Extra chromosomal DNA segment (D) AN REE DNA TS

1. In Bryophyta, a specialized organ of the | 111, wrwEer @ diomgheg &1 s faow o

sporophyte for attachment to the gametophyte ST 2 -gxqqﬁ—qﬁ;a g Wiedl & Heddl @
is called : (A) WiH (B) e
(A) Stalk (B) Foot (C) dreT (D) ‘G’éﬁﬁg@
(C) Seeta (D)  Rhizoids
2-BA|] [25] [ Contd...
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112.  Inverted omega shaped vascular bundles are | 112, 3I&e WM FHR % Ydgdl dved YW A
found in : 2

FAN
©

PN
©

(A) Cycas corolloid root (A) HEhd JFAH HA

o
L

F /N
™=

(B) Cycas stem (B) HTsehH a1
(C) Cycas rachis (C) dEhy |
(D) Cycas leaflet (D) HTShE YUleh

L
I"\

PN
©

AN
©

o
L

O
fdl
O el O el A Ml O Ml O el O el o el

F /N
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113.  Apogamy results in formation of : 113.  9gHA % YioEEEY S99 2o
(A) Diploid Sparophyte (A) %ﬂfﬁm W
(B) Diploid Gametophyte (B) %’lﬁ'ﬁl W
(C) Haploid Sparophyte (C) aqﬂ-fﬁm an
(D) Haploid Gametophyte (D) 3111'&13 W

114. Cuscuta is a : 114.  HEHa z U
(A) Total stem parasite (A) YU T@F9 OISt
(B) Partial stem parasite (B) 3Tf¥eh TR YTAIe]
(C) Total root Parasite (C) IiUi qd PLEici
(D) Partial root Parasite (D) AT e WLSiat
115. Hydathodes are meant for : 115. Syl 1 @ 2
(A) Respiration (A) o4
(B) Guttation (B) Tergamd
(C) Transpiration (C) aTSIIcHSH
(D) Photo respiration (D) YehwIiE Fg4

116. A molecule of ATP is structurally similar to a | 116, W& ATP 317 EATcHS &9 H 39k 9HH

molecule of : 3\'|T-|T % :
(A) RNA molecule (A) RNA 37
(B) DNA molecule (B) DNA 337
(C) Amino acid (C) TRHT 7
(D) Fatty acid (D) IE1 3I+=A
2-BA| [ 26 ] | P.T.O.
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117.  Which colour of light is most effective for | 117, e &1 HHET T YHE %S9 & fow
photo synthesis? aqifas gyurEl 27
(A) Blue (A) e
(B) Green (B) &

O
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(C) Red (C) <
(D) Violet (D) s

b
WO

J"\
O

B
1

118.  Imbibtion is a : 118.  3T=:gT0 z T&h
(A) Chemical Process (A) THEREES s
(B) Biological Process (B) Sifaes ufsean
(C) Physical Process (C) uifqes gfshan
(D) Biochemical Process (D) SRS gisha

119.  Which of the plant harmone is extracted | 119, &I YeY BHH Hds T [Ispdd  fwar

from fungus? ™ 2v
(A) Auxin (A) 3T
(B) Gibberellin (B) forsifer
(C) Cytokinin (C) HTEerehrsiH
(D) 2, 4D (D) 2, 4-D
120. What is emasculation? 120. gHcIE &1 27
(A) Removal of petals (A) STRIedl 1 &M
(B) Removal of sepals (B) TAI hl BHI
(C) Removal of anthers (C) WFThISN 1 BHI
(D) Removal of ovary (D) IS I &M
121.  Epinasty movement is found in : 121. Wﬁw nfg 9 S ® o
(A) Leaf sensitivity in Mimosa pudica (A) @-g H-g o qof §?F[
(B) Drooping of bud (B) hictehT 1 H SehAT
(C) Opening of flower (C) g5 I CEIl
(D) Young leaves of Fern (D) %A h1 TwU qfel
2-BA| [27 ] [ Contd...
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122.  Genes do not pairs in : 122.

PN
©
Ld

(A) IS IR H

(B) IWF H
(C) ffad 31

(D) F#AS H

FAN
©

O
f
el T el O el O Ml i Ml oY Bl G e

(A) Somatic cells

PN
©

(B) Gamete

o
L

F /N
™=

(C) Fertilized egg

L
I"\

(D) Zygote

PN
©

AN
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123.  Ultimate source of genetic variability are : 123.

F /N
N/

ety fafiysar &1 ww w@a @
(A) IqREH

(B) STHATR ST9aTE

(C) SH yarg

(D) ®UFGOT U SFATCIH

(A) Mutation

(B) Genetic drift

(C) Gene flow

(D) Transformation and translation

124.  Which technique is used for the test tube | 124,

el 9] HREH o ol HINE qeHie
U S 27

baby program?

(A) Gameti intra fallopian transfer
(B) Zygoti intra fallopian transfer
(C) Intra cytoplasmic sperm injection

(D) Intra uterine insemination

(A) FHH A<: Helldl TAHR
(B) FEAS F=d: halldl T
(C) 3T=i: <hIfSeh geFl IEHY] SoeTH
(D) 37=: TR dREEA

Main function of tapetum is : 125. oieH &1 &I w@ B
(A) Protection (A) Team
(B) Nutrition (B) dI9oy
(C) Pollination (C) WO
(D) Fertilization (D) Tm==
Dinosaurs disappeared during : 126. TRAER 3 H IH T :
(A) Cretaceous (A) TsRelmm
(B) Permian (B) TERA
(C) Jurassic (C) JtEh
(D) Triassic (D) TTEUfEH
2-BA| | 28] | P.T.O.
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127. Maximum absorption of water occurs in : 127. oA &1 Aftrepay A99ny 261 B
(A) Colon (A) Hdd ¥
(B) Rectum (B) HAI™ b
(C) Stomach (C) ™ b
(D) Small Intestine (D) AR IGER |

O

P
O

L
Y

I'lml'l\dbl'l':?b
O

et
OX

ey
i

Y

L
fal

e

M

mﬁ" .
WO

128.  Juvenile harmone is secreted by : 128. 9k WA &1 ®EU 9 g il 2
(A) Thyroid gland (A) IEUZE Ty
(B) Thymus gland (B) oHE Y
(C) Adrenal gland (C) Uferar ufy
(D) Carpora allata (D) HRI UHATET

J"\
O

B
1

129.  Which organ is concerned with the formation | 129, @@ H AT 37 'gﬁrq" fHor o grEfg

of urea in rabbit ? 87

(A) Blood (A) T
(B) Kidney (B) dF
(C) Spleen (C) weitgr
(D) Liver (D) F$d

130. In mammals which organ acts as blood | 130, TauifEl d AT 37 sag o &I 9@

bank? ®E HA BY
(A) Heart (A) T
(B) Lung (B) Fw2
(C) Liver () TR
(D) Spleen (D) wfar
131.  What is chemical composition of fertilizin? 131, WA H THERNE HUed w27
(A) Lipoprotein (A) Franida
(B) Glycoprotein (B) TEENEA
(C) Mucoprotein () B
(D) Chromoprotein (D) Frn
2-BA| [29] | Contd...
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132. Rh factor is present in : 132. Rh factor 3ufEyd B@T 2
(A) All vertebrates (A) Tt wurwfral A
(B) All mammals (B) ol TaarE A
(C) All reptiles (C) udfi Flgal ¥
(D) Man and Rhesus monkey only. (D) fak o9 wa fww s A
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133.  Which of the following characteristic was not | 133, w®ex & Wyl w feu 7T yam d #Hed
used by Mendel in his experiment on Pea 1 = 9 9 59 agu &1 IUgm A8
plant? T ?

(A) Flower colour (A) B I bR
(B) Seed coat colour (B) SSreRur 1 T
(C) Pod colour (C) el T T
(D) Fruit shape (D) %A I m@ﬁr

F /N
N/

134.  Ascaris protects itself against digestive enzymes | 134, UEH{H TWI &1 WM & Y=k USAGHT o

of the host by: Tk g 9 8

(A) Mucus (A) o1

(B) Antienzyme (B) UIUSEH

(C) Antienzyme and cuticle (C) TLUSEH Ud Hehd

(D) Cuticle (D) HIfHd

135.  HIV that causes AIDS first starts destroying : | 135. AIDS 309 & dal HIV 9a8 9gddl A%

(A) Leucocytes @ R

(B) Helper T lymphocytes (A) TIHEE B

(C) Thrombocytes (B) TR T-Tarwramse
(C) greraser

(D) PB - Lymphocytes S s

136.  Which one of the following is absent in | 3¢, w1 ¥ fi=fafga o 3 sIferd g 87

sponges? (A) dFIeRT =HITSTRT
(A) Nerve cell (B)  Sensory cell (B) Hddl hifeTehT
(C) Gland cell (D) All of the options (C) U9 =hifsmeh

2-BA| [30] | P.T.O.
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137. The signals for parturition originate from : 137. gog TR %@ Hehdl T 37HT 39 24T 2 E,E; |
(A) Fully developed foetus only (A) had Tilf fasfogg ™ 4 E.E: ‘
(B) Placenta only (B) had U H f,.‘:: 1
(C) Placenta and fully developed foetus (C) 3 o1 g faeefaa 7 4 ::Z: :
(D) Oxytocin harmone (D) ITHeEa sMiH i}g; .
138.  Kala-azar is caused by : 138. ol 39K 1 HNH B O
(A) Trypanosma cruzi (A) g shfl o
(B) Leishmania donovani (B) RIS
(C) Trypanosoma brucei (C) TeuaramT st
(D) Trypanosoma garnbeinse (D) fouaTEm™T TieH
139. Hydra can not digest : 139. ®EY A& U= Hhal &
(A) Proteins (A) T
(B) Fats (B) FEM
(C) Starch (C) wH
(D) Sugars (D) wrhT
140.  An earthworm has : 140. T W 4 Bd B o
(A) one pair of eyes (A) = h TR AME
(B) two pair of eyes (B) == I 7 WL
(C) four pair of eyes (C) = H =R Gﬁ'é]
(D) no eyes (D) 99 T8 Bd 8
141.  Which insect is useful for us? 141.  HHE He wAR fow IwEnf B 7
(A) Periplaneta (A) Ufteeter
(B) Musca (B) HEHI
(C) Bombyx (C) wfreeg
(D) Mosquitoes (D) H=a1
2-BA| [31] [ Contd...
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142. The sequence of cell cycle is : 142. I =6 H1 HH B
(A) S, M, G, and G, (A) S, M, G, 3R G,
(B) G;, G,, S and M (B) G,, G,, S 3 M
(C) G, S. G, and M (€) Gy, S, G, 3R M
(D) M, G,, G, and S (D) M, G, G, 3K S
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143. “Green glands” found in some of Arthropodes | 143. $®& ATYTITST aﬂ?vﬁ 4 98 9 areft e
are helpful in : A R e 2
(A) Respiration (A) @& H
(B) Digestion (B) 9T '}
(C) Excretion (C) IcHsH H

FAN
N/

C

(D) Reproduction (D) 934 T

=

144. One of the ex-situ conservation method for | 144.  HPIUEASATIAT] % T-TIH WU H TH

endangered species 1s : fafa 2

(A) Wildlife sanctuarie (A) TISfE RO
(B) Biosphere Reserve (B) wamsd fiwte
(C) National park (C) g™ qreh

(D) Cryopresevation

145. What is Epiblema? 145.  UftscmT FAT 87
(A) Epidermis of root (A) g 1 e
(B) Epidermis of leaf (B) wel h 3ferem
(C) Epidermis of stem (C) w9 i fer
(D) Epidermis of flower (D) g i 3fferem
146. Widal test is carried out to test : 146. fas@ o= T 9gEE i STl 2
(A) AIDS (A) AIDS 3l
(B) Typhoid fever (B) THIBISS Sa ohi
(C) Malaria (C) \AfET <Al
(D) Diabetes (D) TWYHE i
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147. Which one feature 1s common to leech, 147.  hiEHl Tsh &0 Gﬁ'$, FIHUE  qdl F@l’iiﬁ\fl

O

P
O

cockroach and scorpion ? aH 87

(A) Nephridia (A) TFHE
(B) Ventral Nerve cord (B) I dERI T

L
Y

I'lml'l\dbl'l':?b
O
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(C) Cephaliztion (C) TImiyem
(D) Antennal (D) #feRTu
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148.  Which of the following group of plants exhibit | 148. ™= H ¥ S99 UGy &g H WG fafayal

more species diversity? arferss 91 ST B 7

(A) Angiosperms (A) STEdsfsi

(B) Algae (B) I

(C) Bryophyta (C) SITATHTST

(D) Fungi (D) Hah

149.  Spore bearing leaf is called 149. SISV 9RYT A GIel U<l wEA 8

(A) Sorus (A) "

(B) Indusium (B) TERRM

(C) Ramentum (C) W=H

(D) Sporophyll (D) TR

150. Who proposed the natural system of plant | 150. 9igu affetor < ‘SIT%T%&? ugfd fere weatfaa

classification? ot ?
(A) Carolois Linnaeus (A) HUaw TafF=m
(B) John Hutchinson (B) Wigd gaed
(C) Bentham and Hooker (C) =9 Td FH
(D) Oswald Tippo (D) 3EETds  feoan
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